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Important Points:

Principal is the money borrowed or lent.

Interest is the additional money given by the borrower to use the principal
for a certain period of time

Rate of interest is the percentage of the principal paid every year.
Time is the period for which the money is borrowed or lent.

Amount is the total money returned by the borrower to the lender after a
certain period of time. It is found by using Amount = Principal + Interest.

Simple interest can be calculated by using %, where P - Principal, r -

Rate of Interest, n - Time.

SIMPLE INTEREST WORK SHEET

Find the simple interest I 25,000 at 8% per annum for 3 years?
< 25,0008@ 8% au'ly aipld 3 YWIBHEHHGHH SHalall g SIS ?
a.< 600 b. X 6,000 c.< 60,000 d.X 7,000
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Arjun borrowed a sum of X 5,000 from a bank at 5% per annum. Find the
amount to be paid at the end of three year.
ojerat @b amkBuImhE uMmGHSG 5% ey eisd I 5000ms  SLemsll

QUIBMIT. cpediml  SpewihHelent  (paled Sleuf OFsHsd Geuswiiguws  GCOTHHS
OHTEMHMW ST,

a.X 5,750 b.< 5,500 c.X 6,500 d. < 4,500

Shanti borrowed X 6,000 from a Bank for 7 years 12% per annum. What
amount will clear off her debt?

gihd @ aumdwelmbE, oaibhE  12% ey  efsb I 6,000 7
W BHEHHGHS SLMHL QUBBTT eTefled, 7 HWIBHT HPHFH DIQUT 61616166
LeTSHMBF CFIHHGITL SL 6T &(HLD?

a.< 5,040 b. 11,040 c.X 11,050 d.< 4,530

Kumaravel has paid simple interest on a certain sum for 2 years at 10% per
annum is X 750. Find the sum.

GWIGaed @ GUIII LS OFHTwasE& 10% e ly oipd 2 OLeEihser SPHH I
75083 SHellaUlQUITHE OFVISHIH T, DIFMEVSH HTENISH.

a.< 3,500 b. X 3,900 c.< 4,000 d.< 3,750

Find the simple interest on X 35,000 at 9% per annum for 2 years?
T 35,0005 oweiibesd 9% e eisld @i aibhEEhdGs Saleul gpenuid
BTG .

a.< 6,300 b.X 6,700 c.< 6,500 d. X 6,900

Basha borrowed X 8,500 from a bank a particular rate of simple interest.
After 3 years, he paid I 11,050 to settle his debt. At what rate of interest he
borrowed the money?

um agm  eteiuel] @@ eubBuled®mBEH @m GHIILL  safanly eissded
8,500ms sLamall QUBBTT.  cpadim  uIGseT H0HH Deuy X 11,050mF
CFIHFHH HL M DML SHHTT 6lafled QU 19 @iHID 6l6leIeTa]?

a.5% b. 10% c. 15% d. 20%

A sum of ¥ 48,000 was lent out at simple interest at the end of 2 years and 3
months the total amount was < 55,560. Find the rate of interest per year.
sLemd  eaupmislul L giFe X 48,0005 2 ouemihsel 3 10THE BTVSHBESLI
a1 sefleul 19 cpeold GQUBLILL L QTdHsHsh GsTems I 55,560 oub OHbHH eTaiev,
ALY HHMHH HTEWIH.

a. 5% b. 6% c. 8% d. 7%

Which among the following rate of interest yields an interest of I 200 for the
principle < 2,000 for one year.
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Heteupd  aul'lp  aispdHed oz X 2,000 oiFsg  @rmanihsd < 200
Sl puItadd OBTHHBHIQUSTS B(HEHGLD?
a.10% b. 20% c.5% d. 15%

Riya bought I 15,000 from a bank to buy a car at 10% simple interest. If she
paid X 9,000 as interest while clearing the loan, find the time for which the
loan was given.

fluim etesiueny A hSH aumbiGausBaTs X 15,000 10%safleu’ g eoam aissHde0
sLamall OuBpty. oeuy X 9,000ms sLemar (IpH@GD  HHOUTUNCD, UL IQUITEF
CFISHIH T 6l6lleD, HL M6l LIWSLBGSHH U HTeLHmBHDH Heidh ([Hdb.

a. 5 years b. 3 years c. 7 years d. 6 years

In simple interest, a sum of money doubles itself in 10 years. In how many
years it will get triple itself.

salaul lpuiled @ SiFeL 10 LewihHelled S(H  IDLBISTENT0 DbEH  OIF6V
(PDIOL_MIBTS OTBISMBEG DIV6VEH 2 UIHUSBEH 61HHEN6T DLe0I(HH6IT DLEGLD?

a. 15 years b. 20 years c. 30 years d. 35 years

In simple interest, a sum of money amounts to I 6,200 in 2 years and I 6,800
in 3 years. Find the rate of interest.

R OFTmsd @ GBILILL Saially  aiHdHdHe0 2 gmibseied I 6,200
aaia)b, 3 oewibsefled X 6,800 eaaud o wigdpE d@led ey eainHmH
BTG .

a.10% b. 12% c. 15% d. 8%

In a principal is getting doubled after 4 years, then calculate the rate of

interest.
PRI OFeUTeiH 4 SWIbBHeNe0 BTN DL BISTHMBH  61leL, QY aIHHmBHDH
SITE0T .

a. 20% b. 30% c.25% d.15%

A principal becomes X 10,050 at the rate of 10% in 5 years. Find the principal.
Q7 oF0 oakse 10% ey aissHid 5 samGseied I 10,0505
® WIhHHS 6160160, DIFN6VDH BHTEWIHb.

a. 33,350 b.X 3,700 c.X 6,700 d.¥ 6,000

Radhika invested ¥ 5,000 for 2 years at 11% per annum. Find the amount
received by him at the end of 2 years.

grHsT  ewigB@E 11% ey eaisdded X 50008 2 wiGsendd WHSH
CFUIHOBTT. GF6RILTD SLewgal (Lpalled Sialf OUBID OHTMHMU HT6ENISH.

a. 36,100 b. < 6,300 c.< 6,500 d.X 5,100
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Find the amount due on < 7,500 at 8% per annum for 1 year 6 months.
X7,50083 8% ey aipd @@ QIHLID 6 ITHBIGEHHSTE CHTEDBMUI HTNIS.
a.< 9400 b. ¥ 8400 c. < 8000 d. < 9000

Find the simple interest due on X 6,750 for 219-days at 10% per annum.
R 6,7508@ 219-mm s6ehd& 10% el aisb saieu gemul STews.
a.< 550 b. < 450 c.3 500 d. T 405

A sum of money triples itself at 8% per annum over a certain time. Find the
number of years.

Qb G L oFtaig 8% eailly aldsHHed cbHmar  LEI(HH6TN6  LP6TH]
LDL_BIBTGLD 616018  HT6U0Ih ?

a. 20 years b. 10 years c. 25 years d. 15 years

A certain sum of money amount to < 8,880 in 6 years and I 7,920 in 4 years
respectively. Find the rate percent.

@ GUILILL oFtaig 6 opemibseiey X 8,880 sumaudp 4 oemipaefed
7,920 gysa b OTRISBSHI elelled Qg QiHHNHs HTeWIS.

a. 8% b. 10% c. 7% d. 9%

Sathya deposited X 6,000 in a bank and received I 7500 at the end of 5 years.
Find the rate of interest.

gswr X 6,000 om amdule GoasHd 5 eemipaeia pgalsd I 75008
QUBBT eTeleL, aUl'ly aIHHMBHDH HTENISH.

a.3% b. 5% c. 7% d. 10%

Find the principal that earns I 250 as S.I. in Z%years at 10% per annum.

10% oeumL eau'lg eindhHded Z%gj,ﬁa&r@&mﬂﬁb I 250 el uimssd HmHD DiF60

OBHTMHMWISH BHITCWIH.

a.< 500 b.X 750 c.< 1000 d. 1500

A sum of money doubles itself at 12% % per annum over a certain period of

time. Find the number of years.

(o)

%o opemih ey ainHHed @ G L  emBHaeiled

AUl LTaBgl.  SLeRIBHH6I6  6T6mT6m01 HeNHENUIS  HT6HISH.

a. 8 years b. 10 years c. 12 years d. 15 years

R OHTnHWITEISI 12%
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22. Find amount on X 3,600 at 15% p.a. for 3 years and 9 months.
33,6005 15% 'y ainpsdled 3 WIBH6T 9 WTHHHO QUBLILGD OHTEnHMUI
BHTE00TH.

a.X 5,168 b.X 5,625 c.X 5,805 d. < 5,300

23. Find the principal that earns < 2,080 as S.1. S%in years at 16% p.a.

16% ey «aipsde0 3% aewiBseied I 2,080 eulpuined SHHD  DIF6D

OHTMHMWISH  BHITCWIH.

a. < 5000 b. < 40,000 c. <X 4000 d. < 14,000

24. Find the rate percent at which, a sum of money becomes %times in 2 years.

RT  DIFOTAIH 2 QUIHLHIH6L %Lol_rfﬂasrraB HGHOID6TNeD, DIHET UL IgaIBHSHID

616116|61T6Y| ?
a. 62.5% b. 72.5% c. 100% d. 50%

25. The simple interest on a sum of money is % of the principal. Find the rate

percent and time if both are numerically equal.
QM GORUILL OHTmsuleT Sl lQuITerdl  DIFeder % IDL_TBIG)(EF — FLDLD.

QUL RISH(PD, GUIHL(PLD 66wl OFHITD FOWOTH EHBSWEUTH el ly aIHHMSHULD
QUL HEMBHWD  SHT6uT.

a. 8% %, S%years b. 7%, 7 years C. 7% %, 7%years d. 8%, 8 years

26. A sum of X 46,000 was lent out at simple interest and at the end of 1 year and
9 months, the total amount was I 52,440. Find the rate of interest per year.
g0 X 46,000 1 Sewi 9 wWIHd STSHBGI LIBG Hefal g epeold
Qwrsas Camemswns I 52,4405 o wWiihsal ealed, 'y 6iHHMmBH BTEHIH.
a. 6% b. 7% c. 8% d. 10%

Solution:
P = Rs. 46000
N =1 year 9 months

9 7
=1+ = = - year
12 4y

Amount = Rs. 52440
S.I=52440 - 46000 = Rs. 6440
PNR

SI=—
100
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46000x7 xR
4x100
~ R=8%

= 6440 =

27. Rahul borrowed < 4,000 on 7t of June 2006 and returned it on 19t August
2006. Find the amount he paid, if the interest is calculated at 5% per annum.
gm@Geo 7-6-2006 oeiimi X 4,000 sLemal GuBp Siend 19-8-2006 SjeTHI SHLOL
CFaVISHH I 5% eip ey SESA_OULLTL Souf GCFasHw  CHTens

616116)|61T6Y| 7
a.< 4000 b. X 3600 c. < 4400 d. < 4040
Solution:
P = Rs. 4000
N =73 days = LS year = ! year
365 5
R=5%
s1= PR
100
_ 4000x1x5 _
5x100

- Amount =P +S.1 =4000 + 40 = Rs. 4040

28. A man invested %of his capital at 7%, %at 8% and the remainder at 10%. If
his annual income is X 561, the capital is
@ LOONHET HOGH! CLPOHETHIH60 % ukiend 7% el ly eiHsHaHeid % ukiensd 8%

alBHHaID, BseTenensd 10% oissHed (1pHeSH OCFUIADBT]. SIAUTH  QU(HL
QIHLOTEID X 561 6Iafled SIQUTHI CLPEOSHEITLD.

a.3 5,400 b. % 6,000 c.% 6,600 d.< 7,200
Solution:
(Exlj+(5xi]+(P—E—ijﬂ=561
3 100 4 100 3 4) 100
= E+3+3=561
300 50 24
= 42P +36P + 75P = 1009800
_ 1009800 _ Rs. 6,600
153

29. Vaideesh deposits I 500 at the beginning of every month for 5 years in a post
office. If the rate of interest is 7.5%. Find the amount he will receive at the
end of 5 years.
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auged eeel] T 500, @aIGauT(h WTHH BT _SSHHMID PT DiehFeOBHH60 5
WBBEHHGF CFISHEBTT. el lg aiebd 7.5% ealed 5 YIBHT (LpIYaied
Slau] GumID CFHTend 6T6uia6r6y?
a.< 35718.75 b.X 37518.75 c. 37581.75 d. 35817.75
Solution:
Amount deposited every month, P = Rs. 500
No. of months, n = 5x12 = 60 months

Rate of interest, R = 7% % = % %

Total deposit made = Pn
=500x60 = Rs. 30,000
Period for recurring deposit
N=1 [n(n +1)}
12 2
= 1 6ox61 =32
24 2
PNR

100
= 500x g0 X 13
2 2x100

4 PR
100
= 30,000 + 5,718.75 = Rs. 35718.75

Interest, I =

= Rs. 5718.75

-. Total Amount = Pn

30. Mr. Thomas invested an amount of Rs. 13,900 divided in two different
schemes A and b at the simple interest rate of 14% p.a. and 11% p.a.
respectively. If the total amount; of simple interest earned in 2 years be Rs.
3508, what was the-amount invested in Scheme B ?)

HTo6  ealedlalT p 13,900 = @yewiLmsll Ufss A wppid B asm &
QaueiBoum FH L miselled (1pHeSG QFuidBrT. A AL dHev 14% eauaishdhdeib,
B AliLgdHed 11% eully aisd Camemih sensduGnd Gurg 2 euhl &HHlev
HwLBG an'lg ap 3508 eaaied 'B" et SHLHHe0 1pHeSH OFulh GHTensd

6161161161T6)] 7
a. Rs 6400 b. Rs. 6500 c. Rs. 7200 d. Rs 7500
Solution:
14% of 13900 11% of 13900
(1946) (1529)
N\ v
1754
v Ny
225 192
75 64
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139 part = 13900
64 part = 6400
The amount invested in Scheme B is Rs. 6400

SIMPLE INTEREST Work Sheet Answer Key

2134 5 678|910
B/A B D A B D/ A D B
11 1211314 |15 /16 |17 |18 |19 | 20
B C/C/A B D C|A B C
21122123 24 2526|2728 29|30
AB C A C C/ D C A A
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